SIGNATURE OF QUALITY

AUTOMOTIVE PRODUCTS, INC.

INSTRUCTIONS-INSTRUCCIONES-CONSIGNES

APPLICATION: 2007-08 HONDA CRV

APLICACION: HONDA CRV, MOD. 2007-08

APPLICATION: HONDA CRYV 2007-08

STEP BAR ASSEMBLIES PASSENGER SIDE
ENSAMBLES DE ESTRIBOS (1) OOt e
MONTAGES DE MARCHE-PIEDS
25-3480 25-3485
26-3480
DRIVER SIDE
LADO DEL CONDUCTOR
COTE CONDUCTEUR
ITEM | QTY CONTENTS - CONTENIDO - CONTENU TOOLS - HERRAMIENTA - OUTILS
1.2 2 STEP BAR, PASSENGER (1) AND DRIVER (2) 10MM” SOCKET
3 2 PASSENGER BRACKET 13MM SOCKET
4 2 DRIVER BRACKET 7/32" HEX WRENCH
5 12 M8-1.25 X 30MM HEX HEAD BOLT RATCHET
6 12 3/8” FLAT WASHER RATCHET EXTENSION
7 12 3/8” LOCK WASHER SMALL FLAT HEAD SCREWDRIVER
8 8 3/8-16 X 1.00” BUTTON HEAD BOLT TORQUE WRENCH
9 8 3/8” INTERNAL TOOTH LOCK WASHER UTILITY KNIFE
10 8 SPACER WASHER
1,2 2 ESTRIBOS, ACOMPANANTE (1) Y CONDUCTOR (2) DADO DE 10MM”
3 2 SOPORTE DEL LADO DEL ACOMPANANTE DADO DE 13MM
4 2 SOPORTE DEL LADO DEL CONDUCTOR LLAVE HEXAGONALE DE 7/32
5 12 PERNOS CON CABEZA HEXAGONAL DE M8-1,25 X 30MM MANERAL
6 12 ARANDELAS PLANAS DE 3/8" EXTENSION PARA MANERAL
7 12 ARANDELAS DE PRESION DE 3/8" DESTORNILLADOR DE PUNTA PLANA
8 8 PERNO TERMINAL DE 3/8-16 X 1 PEQUERNO
9 8 ARANDELA DE PRESION DE DENTADO INTERIOR DE 3/8" LLAVE DE TORQUE
10 8 ARANDELAS SEPARADORAS NAVAJA
1,2 2 MARCHE-PIEDS, PASSAGER (1) ET CONDUCTEUR (2) DOUILLE 10MM
3 2 SUPPORT COTE PASSAGER DOUILLE 13MM
4 2 SUPPORT COTE CONDUCTEUR CLE HEXAGONALE 7/32 PO
5 12 BOULON A TETE HEXAGONALE DE M8-1,25 X 30MM CLIQUET
6 12 RONDELLE PLATE DE 3/8 PO EXTENSION PARA CLIQUET
7 12 RONDELLE A FREIM DE 3/8 PO PETIT TOURNEVIS A BOUT PLAT
8 8 BOULON A TETE RONDE 3/8-16 X 1,00 PO CLE DE COUPLE
9 8 RONDELLE A FREIN A DENTS INTERIEURES 3/8 PO COUTEAU
10 8 RONDELLE D'ESPACEMENT

STEP 1.  Remove the contents from box and check for damage. Verify all parts are present. Read instructions com-
pletely before beginning.

STEP 2. Remove underbody splash guards from vehicle. Each splash guard is held in place with three bolts and four
push type fasteners.

STEP 3.  Determine passenger and driver brackets. Install drivers side brackets as shown. SEE FIGURE 1.

STEP 4.  Attach driver side step bar to cradles with the Westin logo facing outward. Step pad closer to end of tube goes
to rear of vehicle. Secure with 3/8” button head bolts and internal tooth lock washers as shown. SEE
FIGURE 2.

STEP 5. Make sure step bar and brackets are properly aligned with vehicle and tighten fasteners. NOTE: Four extra
spacer washers have been included to help level brackets if necessary depending on vehicle tolerances.
Recommended torque values are 19 Ft. Lbs. for 3/8” fasteners and 23 Ft. Lbs. for 8mm fasteners.

STEP 6. It is recommended to re-install splash guards. Splash guards will have to have a slit cut in the outer edge in
order for the brackets to pass through.

STEP 7. Repeat installation for passenger side.

WO:

75-0864 REVISION 11/16/07




FINISH PROTECTION
Westin products have a high quality finish that must be cared for like any other exposed finish on the vehicle. Protect the finish with a non-abrasive automotive wax, (e.g.
Pure Carnauba) on a regular basis. The use of any soap, polish or wax that contains an abrasive is detrimental, as the compounds scratch the finish and open it to

corrosion.

PASO 1.  Retire el contenido de la caja y verifique que ninguna pieza se haya danado. Verifique que no falte ninguna
pieza. Lea las instrucciones completamente antes de comenzar.

PASO 2. Retire los salpicaderos en la parte inferior de la carroceria del vehiculo. Cada salpicadero esta sujeto en su lugar
con tres pernos y cuatro sujetadores tipo tractor.

PASO 3. Identifique los soportes del lado del acompanante y del conductor. Instale los soportes del lado del conductor
como se muestra. VEA LA FIGURA 1.

PASO 4. Instale el estribo del lado del conductor sobre la base, de modo que el logotipo de Westin quede hacia afuera.
NOTA: El estribo largo mas cercano al tubo debe instalarse en la parte trasera del vehiculo. Ajuste con pernos
terminales de 3/8” y arandelas de presién de dentado interior como se muestra. VEA LAS FIGURA 2.

PASO 5. Asegurese de que el estribo y los soportes estén alineados correctamente con el vehiculo y ajuste los sujetadores.
NOTA: Se han incluido cuatro arandelas espaciadoras adicionales para nivelar los soportes, si es necesario, en
funcién de los niveles de tolerancia del vehiculo. Torque recomendado: 23 libras-pie para sujetadores de 8 mm y
19 libras-pie para sujetadores de 3/8”.

PASO 6. Se recomienda volver a instalar los salpicaderos. Los salpicaderos deberan tener una ranura en el extremo
exterior para introducir los soportes.

PASO 7. Repita el proceso de instalacion para el lado del acompanante.

PROTECCION DEL ACABADO

Los productos Westin tienen un acabado de alta calidad que requiere del mismo cuidado que cualquier otro acabado expuesto del vehiculo. Proteja el acabado con una
cera no abrasiva para automoviles (por ejemplo, Pure Carnauba) regularmente. El uso de cualquier jabén, pulidor o cera que contenga un abrasivo es nocivo, dado que
los componentes rayan el acabado y lo exponen a la corrosion.

ETAPE 1. Enlevez le contenu de la boite et vérifiez pour tout dommage. Vérifiez que toutes les pieces y sont. Lisez
completement les instructions avant de commencer.

ETAPE 2. Retirer les anti-éclabousseurs du véhicule. Chaque anti-éclabousseur est retenu par trois boulons et quatre
attaches poussoir.

ETAPE 3. Etablir les supports cotés passager et conducteur. Installer les supports coté conducteur tel qu'illustré. VOIR
FIGURE 1.

ETAPE 4. Fixez le marchepied coté conducteur sur les berceaux avec la devise Westin face a l'extérieur. Le seuil de
garniture le plus pres de l'extrémité du tube va vers l'arriere du véhicule. Fixez au moyen des boulons a téte
ronde de 3/8 po. et les rondelles-frein a dents intérieures tel qu'illustré. VOIR LA FIGURE 2.

ETAPE 5. S'assurer que le marchepied et les supports sont correctement alignés sur le véhicule et ensuite serrer les
attaches. REMARQUE : Quatre rondelles d'entretoise supplémentaires ont été incluses pour aider a niveler les
supports, au besoin, selon les tolérances du véhicule. Les valeurs de couple recommandées sont de 23 pi-lb
pour les attaches de 8mm et 7 PI-LB pour les attaches de 1/4 po.

ETAPE 6. Il est recommandé de réinstaller les anti-éclabousseurs. Il sera nécessaire de couper une fente dans le bord
extérieur des anti-éclabousseurs a travers laquelle passeront les supports.

ETAPE 7. Répéter l'installation sur le c6té passager.

PROTECTION DE LA FINISSION

Les produits Westin ont une finission de haute qualité qui requiert des soins, comme toute autre finission du véhicule exposée aux éléments. Protégez la finission a I'aide
d’une cire non-abrasive (par exemple, Pure Carnauba) de facon réguliére. Lusage de tout savon, pate a polir ou cire contenant un abrasif est nuisible, puisque les
composantes strient la finission et la laissent vulnérable a la corrosion.




USE IF NECESSARY TO
LEVEL STEP BAR.

EL USO SI NECESARIO PARA
NIVELAR EL ESTRIBO.
L'USAGE SI NECESSAIRE DE
NIVELER LE MARCHE-PIED.

FIGURE 1 INSTALLATION OF DRIVER SIDE SHOWN.
PASSENGER OPPOSITE.
FIGURA 1: INSTALACION DE LA PARTE, LADO DEL CONDUCTOR.
LADO DEL ACOMPANANTE OPUESTO.
FIGURE 1 ILLUSTRATION DE L'INSTALLATION DU COTE CONDUCTEUR.
COTE PASSAGER OPPOSE.

NUT INSERTS

IN TUBE

ECROU DE RIVET

DANS LE TUBE

INSERTOS PARA REMACHE
DE TUERCAEN TUBO

FIGURE 2 STEP BAR ATTACHMENT
FIGURA2 ACCESORIO DE ESTRIBO
FIGURE 2 FIXATION DU MARCHE-PIEDS

w S Westin Automotive Pro(lucts, Inc.
s 5200 N. Irwindale Ave. Suite 220
[ Irwindale, Ca. 91706

AUTOMOTIVE PRODUCTS, INC.

Thank You for choosing’ Westin products

For additional installation assistance please call

Customer service (800) 793-7846 or (507) 375-3559



